
PARTS LIST

WELLS BLOOMFIELD, LLC

2 ERIK CIRCLE, P. O. Box 280 Verdi, NV 89439

www.wellsbloomfield.com

PRINTED IN UNITED STATES OF AMERICA

telephone: 775-689-5703

fax: 775-689-5976

043b 

p/n PL043b  Rev. B                          080219  cps 

NARROW HUMIDIFIED DRAWER WARMER 
HDWN-1 & HDWN-2 

 
CONTENTS 

Description          page 
 
Parts List  ………………………………………………….. 2 
HDWN Cabinet Components ………………………….… 3 
HDWN Electrical Components  …………………………. 4 
HDWN Removable Components  ………………………. 5 
   
 

PL043 part B 



2 

PART # DESCRIPTION 

MECHANICAL 

50483 BEARING ROLLER TRACK (pk 6) 

65405 SPACER, DRAWER STOP SS RW 

69248 DRAWER HANDLE, RWN 

504493 CONTROL PANEL HDWN 

504498 DECAL FACEPLATE HDWN 

504525 SEAL, MOTOR SHAFT, TEFLON 

504539 WATER VAT, HDWN 

504544 GASKET, TOP DRAWER HDWN 

504545 GASKET, BOT DRAWER HDWN-2 

504546 ASSY, TOP DRAWER, HDWN-1, -2  

504575 DRIP TRAY, HDWN 

506185 KIT, UPGRADE DRAIN CAP 

507043 KIT, TOP AND BOTTOM DRAWER 

507049 ASSY, BOTTOM DRAWER HDWN-2 

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

PART # DESCRIPTION 

OPTIONAL ACCESSORIES 

20314 FEET, ADJ 4” GRAY (pk 4) 

21109 FEET, ADJ 1” (pk 4) 

22228 DRAWER INSERT RWN, HDW 

  

  

  

  

  

  

  

  

ELECTRICAL 

51217 STRAIN RELIEF 90º HEYCO 

60469 CORDSET 120V NEMA 5-15P 

62896 CONNECTOR WIRE 12-14 GA (pk 5) 

62898 CONNECTOR WIRE 10-14 GA 

63049 TRANSFORMER 115/12V 2.5A 

504517 MOTOR W / IMPELLER 

504528 PROBE, AIR TEMP 

504542 HEATING ELEMENT  WATER 120V 420W 

504543 HEATING ELEMENT  AIR 120V 1100W 

504556 PROBE, WATER TEMP 

504577 RELAY, 12V COIL 15A 

504494 CONTROL TIME TEMP 2-ZONE 

8043-83 THERMO HI-LIMIT 

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

PART # DESCRIPTION 

HARDWARE 

51053 NUT 8-32 KEPS SS (pk 100) 

51217 STRAIN RELIEF 90º HEYCO 

55487 SCREW 8-32 x 5/16 PH SS (pk 50) 

51716 WASHER #6 FLAT SS 

55736 NUT, 8-32 GREEN (pk 10) 

60329 SCREW 6-32 x 7/8 PH Ni (pk 10) 

60612 SCREW 1/4-20 x 1-2 SL SS 

62896 CONNECTOR WIRE 12-14 GA (pk 5) 

62898 CONNECTOR WIRE 10-14 GA 

61262 RIVET POP 1/8 x0.265 SS (pk 50) 

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

304489 GLD HDWN-1, -2 

304530 WIRING DIAGRAM HDW, HDWN 

305986 OP MANUAL, HDW/N SERIES 

  

  

  

  

  

  

  

  

  

  

  

  

  

LITERATURE and DOCUMENTATION 

P
L043b S

ervice P
arts List - H

D
W

N
-S

eries H
um

idified D
raw

er W
arm

er 



3 

CABINET COMPONENTS 

LEG, ADJUSTABLE
1” (HDW-1) 21109 (pk 4)
4” (HDW-2) 20314 (pk 4)

REMOVABLE COMPONENTS
SEE PAGE 5

DECAL, FACEPLATE
504498

SEAL, MOTOR SHAFT
TEFLON 504525

BEARING, ROLLER
TOP OR BOTTOM

50483 (pk 6)

ELECTRICAL COMPONENTS
SEE PAGE 4

CONTROL PANEL
504493

P
L0

43
b 

S
er

vi
ce

 P
ar

ts
 L

is
t -

 H
D

W
N

-S
er

ie
s 

H
um

id
ifi

ed
 D

ra
w

er
 W

ar
m

er
 



4 

ELECTRICAL COMPONENTS 

MOTOR WITH IMPELLER
504517

SEAL, MOTOR
SHAFT 504525

PROBE, AIR
TEMP 504428

PROBE, WATER
TEMP 504556

HEATING ELEMENT
120V 1100 WATTS
AIR 504543

RELAY 504577

TRANSFORMER
120V PRI 12V SEC

63049

RELAY 504577

CONTROLLER. TEMP
504494

SWITCH, LIGHTED
GREEN 120V 15A

505295

CORDSET 120V
NEMA 5-15P 60469

STRAIN RELIEF
120V 51217

HEATING ELEMENT
120V 450 WATTS
WATER 504542

THERMOSTAT
HI-LIMIT 8043-83

P
L043b S

ervice P
arts List - H

D
W

N
-S

eries H
um

idified D
raw

er W
arm

er 



5 

REMOVABLE COMPONENTS 

BEARING, ROLLER
TOP OR BOTTOM
50483 (pk 6)

GASKET, TOP
DRAWER 504544

ASSEMBLY,
TOP DRAWER

HDWN 504546

PAN, PRODUCT
TOP OR BOTTOM

HDW 22228

DRIP TRAY, HDWN
504575

WATER VAT
504539

KIT, UPGRADE
DRAIN CAP 506185

HANDLE, DRAWER
TOP OR BOTTOM
HDWN 22228

GASKET, (ONLY)
BOTTOM DRAWER
504545

ASSEMBLY,
BOTTOM DRAWER

HDWN 507049

P
L0

43
b 

S
er

vi
ce

 P
ar

ts
 L

is
t -

 H
D

W
N

-S
er

ie
s 

H
um

id
ifi

ed
 D

ra
w

er
 W

ar
m

er
 



Genuine Parts
Protect - YOU - All - Ways

SERVICE TRAINING - QUALITY SERVICESERVICE TRAINING - QUALITY SERVICE

CUSTOMER SATISFACTIONCUSTOMER SATISFACTION

Commercial Food Equipment Service Association

Wells Bloomfield proudly supports CFESA
Commercial Food Equipment Service Association

PRINTED IN UNITED STATES OF AMERICA

WELLS BLOOMFIELD, LLC

2 ERIK CIRCLE, P. O. Box 280 Verdi, NV 89439

www.wellsbloomfield.com

telephone: 775-689-5703

fax: 775-689-5976


